
                                                                                                 
     
     
                                                                                                                 
                                                                                                                                                   
                

                                                           
 Ans. 

௩௘௥௧௘௫ݔ =
ଵ଴ାଶ
ଶ

= 6                                                                 

ܸ(6, ݌				,(݇ = 4 
ݔ) − 6)ଶ = ݕ)16 − ݇) 

Ans.Use point (10,3)                                                      
(10 − 6)ଶ = 16(3 − ݇)																																																						ܿଶ = 9 + 4 = 13 
K=2 
                                                                                                                                 
                 

                                                                                    

                                                                                            
  

Find the point on the ellipse,  ௫
మ

ଽ
+ ௬మ

ସ
= 1  that is nearest to the line 

ݕ = ݔ2 + 4. 

 Ans.    

                   m =2,  a=3,   b=2                                                                             

                       ݇ଶ = ܽଶ݉ଶ + ܾଶ = 9 ∗ 4 + 4 = 40 

Point of tangency (nearest point):  ቀି௔
మ௠
௞

, ௕
మ

௞
ቁ = ቀ ିଵ଼

±√ସ଴
, ସ
±√ସ଴

ቁ                                                                       

We have to check which point (±) is nearest (No marks for this step)  

parabola 

4 
V 

(2,3) (10,3) 

directrix 

Vertex:        ܸ(6,2) 

Equation: 	(ݔ − 6)ଶ = ݕ)16 − 2) 
Directrix:  		ݕ = −2		 

Focus  :     6)ܨ, 6) 

                       

(4,5) 
3 

Vertices:   V(4,7),  V’=(4,3) 

Equation: (௬ିହ)
మ

ସ
− (௫ିସ)మ

ଽ
= 1 

Asymptotes:   (ݕ − 5) = ± ଶ
ଷ
	 ݔ) − 4) 

Foci: F(4,5+√13),  F’=(4,5-√13) 

2 

Q. 2 Q. 1 

Q. 3 

x 

y 

  ١٦/٤/٢٠١٦التاریخ )                 ب- ١(مادة الریاضیات      زقازیق        جامعة ال -  كلیة الھندسة  
 دقیقة   ٣٧الزمن                  20: الدرجة للتحلیلیة     امتحان نصف الترم         الفرقة الاعدادیة      

 :رقم الجلوس:                      رقم الفصل:                                               الاسم خماسى

Hyperbola 

3 Marks 3 Marks 

5 Marks 



Q.4  For ⃗ܨ = ଓ⃗		ݖݕଶݔ + ଔ⃗	ଶݖݕݔ + ሬ݇ሬሬ⃗		ݖݕݔ  ,  prove that:   ݀݅ݒ൫݈ܿݎݑ	ܨ⃗൯ = 0 
        Ans. 

										= ݖݔ)

ܨ⃗	݈ݎݑ൫ܿݒ݅݀

 
Q. 5   What is the value of K that make the following two planes  
      orthogonal:   ݔ2 : ߩ + ݕ9 + ݖ	࢑ + 15 = 0, ݔ3			:ߪ − ݕ3 + ݖ7 + 11 = 0 
Ans. 

 
 

Q. 6   Find the equation of the line ݈  passing through point (2,1,3) and 
 is parallel to the two planes, 3 :ߩx+4y+z-8=0  and  2  :ߪx+y-10z-4=0 
Ans. 

D.R. of line   ݈ = อ
݅ ݆ ݇
3 4 1
2 1 −10

อ = −41݅ + 32݆ − 5݇ 

Equation of  ݈:				 ௫ିଶ
ିସଵ

= ௬ିଵ
ଷଶ

= ௭ିଷ
ିହ

 

 
  

3 Marks 

2 Marks 

4 Marks 


